A B4

2AIRI#K4 FIAER

BT 2023 F4R1AHE (TFL—HEDEE)

RKh7—=ohvbU—077 RETL—HE

KL7—=ohvb)—0737 RETL—R&E

REH H & a3 H#&A REH H & a3 H#&A
TL—74 5,874 1 5,874 1 5,874 1 TL—74 5,874 1 5,874 1 5,874 M
Ayh—74 0FM 0M 0M Ay h—74 0FM 0FM 0M
4B 2,750 M 2,750 M 2,750 M 4B 2,750 M 2,750 M 2,750
o 3B 3,666 M 3,666 /M 3,666 M o 3B 3,666 M 3,666 M 3,666 M
FYTAT74 FYTA474
2B 5,500 4 5,500 4 5,500 4 2B 5,500 4 5,500 4 5,500
1B 11,000 M 11,000 M 11,000 M 1B 11,000 M 11,000 M 11,000 M
ERBHE 75 M 75 M 75 M ERBHE 105 M 105 A 105 M
BMN—=77L—7 4 1,650 A 1,650 A 1,650 A BMN—=77L—7 4 1,650 A 1,650 A 1,650 A
4B 1,760 4 1,760 /4 1,760 4 4B 1,760 4 1,760 4 1,760 M
3B 1,760 1,760 1,760 3B 1,760 1,760 1,760
BMN—T7h—F7 4 = = = BMN—T7h—bt7 4 = = =
2B 1,760 4 1,760 4 1,760 4 2B 1,760 4 1,760 /4 1,760 M
1B 1,760 4 1,760 4 1,760 /4 1B 1,760 4 1,760 /4 1,760 M
4B 1,375 1 1,375 1 1,375 1 4B 1,375 1 1,375 1 1,375 M
. o 3B 1,832 1 1,832 1 1,832 1 . o 3B 1,832 [ 1,832 1 1,832 1
EBMN—=7FxT 41474 BMN—=T7FxT 1474
2B 2,750 M 2,750 M 2,750 M 2B 2,750 M 2,750 M 2,750 M
1B 5,500 M 5,500 M 5,500 M 1B 5,500 M 5,500 M 5,500 M
)L 7358 B 4A~11RA500M. 128 ~38400M L7 5F) B 4H~11H500M, 128 ~38400/1

X EHNE @ERARNESLOTL7BIARER) ISHERALRY T,
K TL—T4ld, TV —>v74, #ERE Hh—b+747TF,
XERISE, RERE, Va=TRE0TL—RIFERBLRBELLET,
M Frrul7 4 LM OUTOEHSYRELET,
FH : 2,000, £H#% : 2,000M

X EHEE @ERARHESLCTL7HIARER) ISHERALRY 2T,
K TL—T4ld, V=74, #ERE. Hh—b+747TF,
KERISE, RERE, YVa=TRE0T7L—RIFERBLRBELLET,
M Frrul7 43 BBMRIAOUTOEHSYRELET,
FH : 2,000, £H#% : 2,000



